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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,967,000
301 EtE NS 4,359,200 4,227,600 131,600
=S 2,392,200
Al 1,967,000
14 0Bt 2as 4,359,200 4,227,600 131,600
o= FAXNAEE XA 4,359,200
& 2,392,200
Al 1,967,000
d=d FugsEsd 2,182,650 2,676,000 A\493,350
= 1,338,000
Al 844,650
301 EtE N = 2,182,650 2,676,000 N\493,350
= 1,338,000
Al 844,650
4Bt 2as 2,182,650 2,676,000 493,350
ON=E FdHgysd 2,182,650
== 1,338,000
Al 844,650
H=SFE SN FHES 1,140,000 588,000 552,000
= 570,000
Al 570,000
301 LEtE NS 1,140,000 588,000 552,000
= 570,000
Al 570,000
14 JIEt 2 a3 1,140,000 588,000 552,000
ON=FEH SN FHE= 1,140,000
= 570,000
Al 570,000
A 243t =4 2,160 2,400 N240
203 =] 2,160 2,400 A240
03 A=A =] 2,160 2,400 2240
oxuEdy 243 =4 2,160
E=IS = DATIPN 1,039,979 2,192,670 A1,152,691
= 151,649
< 92,970
Al 795,360
HEHY 2000 Ar 164,880 109,200 55,680
& 65,040
Al 99,840
307 lztol & 164,880 109,200 55,680
= 65,040
Al 99,840
02 2IZHBYAIAE & 164,880 109,200 55,680
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Al 99,840
ANSF=EE FHLRCIAS 472,09 1,705,470 1,233,371
[ 151,649
= 27,930
Al 292,520
301 EtE N = 227,298 314,000 N\86,702
= 118,149
S 22,430
Al 86,719
14 IIEt2 8= 227,298 314,000 A\B6,702
OXNS=Ce FENeAY 227,298
= 118,149
== 22,430
Al 86,719
307 glztol & 244,801 1,391,470 A1,146,669
= 33,500
== 5,500
Al 205,801
02 B AAHE L 244,801 1,391,470 1,146,669
OXSGF=Eg FHL2IAI 244,801
= 33,500
=S 5,500
Al 205,801
D e FHPXE AL 200,000 180,000 20,000
301 2PEN= 100,000 180,000 /80,000
14 JIEt2 8= 100,000 180,000 80,000
OdFI|Her HAXZ At 100,000
308 XXM SOIA 100,000 100,000
09 XIStHstoll CHet BaEx 100,000 100,000
Od==J et FHHXNS ALY 100,000
EYHE W d)18 SN2 203,000 198,000 5,000
301 EetE2 N = 63,000 54,000 9,000
14 0Bt 2a3 63,000 54,000 9,000
OEEFH Ms =018 FHEXE 63,000
307 212+01& 140,000 144,000 24,000
02 LB HAHEE 140,000 144,000 24,000
OEEFYE W8 01 FHEXE 140,000
WEEAl EH35t 977,000 1,074,000 A97,000
WEEA 977,000 1,074,000 /97,000
HFIMSEME X 607,000 615,000 /8,000
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el EaY 23HAL EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AtR2telt] 3,000 5,000 A2,000
OHI20| H&32 23 3,000
02 S==29| 3,000 10,000 A7,000
OHIL20| H&532 24 3,000
301 LB F 15,000 23,000 A8,000
14 J|Et2 &2 15,000 23,000 A8,000
OHIZ0| Z2tetn) 2 AYI 15,000
307 QIZ2t01 A 14,000 14,000
02 QIZHBAAIEER 14,000 14,000
OHI20| 2atetn 2I XA 14,000
AE Bsae| 2,545,805 2,543,098 2,707
= 357,000
| 905,391
& 332,131
Al 951,283
HAaE gt=0otd0l 29 1,089,521 1,089,944 A433
| 568,862
& 170,659
Al 350,000
307 212+01™ 1,089,521 1,089,954 A433
J| 568,862
T 170,659
Al 350,000
11 AR SXAMEET 1,089,521 1,089,9%4 A433
OFAE Zt=0tdI0l 22 1,089,521
| 568,862
= 170,659
Al 350,000
HAEAE SAMA G235 IS 3,500 3,500
307 212+01 A 3,500 3,500
02 QIZHBAAIEE R 3,500 3,500
OFLEAL SAHA S&2st |3 3,500
AW S0tel XI& 22,500 20,000 2,500
T 6,750
Al 15,750
307 2Iz2+0l™ 22,500 20,000 2,500
= 6,750
Al 15,750
11 Al SXAMEE R 22,500 20,000 2,500
o3AdE S0i2| 29 22,500
T 6,750
Al 15,750
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
g #FA4E H0RARSE 29 2,800 2,800 0
& 840
Al 1,960
307 212+01™ 2,800 2,800 0
& 840
Al 1,960
11 Al =SXAMEES 2,800 2,800 0
OXY HAHE HHR2 23 2,800
T 840
Al 1,960
HAad 2522 29 XA 20,653 20,520 133
201 LBr2| 20,653 20,520 133
01 AtR22eltl 20,653 20,520 133
odadE B52e 29 XH 20,653
Q0L FHS &L= XA 18,773
Q@FALESKARRAS S R+ 1,880
A Kol ZAIE X3 6,000 6,000 0
= 3,000
Al 3,000
307 QIZ2t01 A 6,000 6,000 0
= 3,000
Al 3,000
11 AL SXAMEEER 6,000 6,000 0
OFA~E Rollatd ZAIE K& 6,000
= 3,000
Al 3,000
K9 Atel EA4d S HAH 2= 107,966 103,124 4,842
| 51,610
Al 56,356
307 2I2+01™ 107,966 103,124 4,842
| 51,610
Al 56,356
11 AR SXAMEE R 107,966 103,124 4,842
ONFAl 344 SEXE MAH 29 107,966
| 51,610
Al 56,356
FadE SUA IR0 29 83,704 80,582 3,122
J| 41,035
Al 42,669
307 212+01™ 83,704 80,582 3,122
| 41,035
Al 42,669
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Chel: HAE Es2te EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
" AMSI=XAIEEE 83,704 80,582 3,122
Oy H S T2y 29 X2 83,704
| 41,035
Al 42,669
EadE EEXJ 81,82 81,892 0
| 57,328
& 12,282
Al 12,282
301 LetEEZ 81,892 81,892 0
| 57,328
= 12,282
Al 12,282
01 MBI BEA6Z2(2DEXTHA) 81,892 81,892 0
odxdE SEXNA 81,892
| 57,328
& 12,282
Al 12,282
CIXIE0ICIOf miof #AE K& MEASAF BHX 38,222 37,110 1,112
| 19,111
Al 19,111
307 QI2Hol M 38,222 37,110 1,112
| 19,111
Al 19,111
1 ARI=EXAIEE X 38,222 37,110 1,112
OQIHY &= A AL X 38,222
| 19,111
Al 19,111
s g 3Aa4E XA 293,887 283,748 10,139
| 154,945
Al 138,942
307 QI2H0| A 293,887 283,748 10,139
| 154,945
Al 138,942
1 ARSI =XAIEE X 293,887 283,748 10,139
O&n & Fad X2 293,887
| 154,945
Al 138,942
st 2 AW =4 AH 107,000 107,000 0
| 12,500
Al HA,500
307 QI2H0| M 107,000 107,000 0
| 12,500
Al 94,500
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Chel: HAE Es2te EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
" AMSI=XAIEEE 107,000 107,000 0
Ot % FAaE g4 X2 107,000
| 12,500
Al 94,500
HASE HdE3AE MEs NJ 683,160 641,868 46,29
= 354,000
& 141,600
Al 192,560
307 212+01™ 683,160 641,868 46,292
= 354,000
= 141,600
Al 192,560
01 9= ¥ 3l=H| 688, 160 641,868 46,29
OMASEE HEEAY AMEZE K2 688, 160
= 354,000
= 141,600
Al 192,560
A2EAE 2EXE 4,307,925 4,174,642 133,283
| 654,207
= 247,653
Al 3,406,065
HAUEAE RI2ZHRIE 29 2,283,000 2,104,000 179,000
307 2I2+01A 2,283,000 2,104,000 179,000
05 2IZtRES 2,283,000 2,104,000 179,000
OFAFANL DI2IE 2 2,253,000
OFAFANL HEHA =& 10,000
OFa~dE E43 228 23 20,000
HAEXI S AP BIXI XA 157,8%6 126,840 31,056
| 47,376
Al 110,520
307 QIZ2t01 A 157,8% 126,840 31,056
| 47,376
Al 110,520
" ASI=XAIEEE 157,8%6 126,840 31,056
OFA~E+AHAL XIEX BHXIXIA 157,8%
| 47,376
Al 110,520
EaEHMESENEEH 28 XA 264,064 253,681 10,383
= 22,000
Al 242,064
307 QI2tol 264,064 253,681 10,383
= 22,000
Al 242,064
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
05 CIZtRIErZ 264,064 253,681 10,383
OFHAEHME=IHEH 29 X3 264,064
& 22,000
Al 242,064
HAad HF2SdH 29 232,980 226,107 6,873
| 85,59%
& 25,679
Al 121,705
307 212+01™ 232,980 226,107 6,873
J| 85,59
= 25,679
Al 121,705
05 CIZtRIErZ 232,980 226,107 6,873
OFA~HE HESIH 29 232,980
| 85,59
= 25,679
Al 121,705
HLrEEH 2K 1,220,867 1,162,111 58,756
| 518,700
= 154,610
Al 547,557
307 QIZ2t01 A 1,220,867 1,162,111 58,756
| 518,700
T 154,610
Al 547,557
10 Al = XA EEHE2FHIE X 1,220,867 1,162,111 58,756
O&EAHEH 29 1,220,867
| 518,700
& 154,610
Al 547,557
HAGEE SAK SESZ(SAA HRIH44]) 34,920 34,230 690
= 10,476
Al 24,444
301 LetEHZ 34,920 34,230 690
= 10,476
Al 24,444
03 A2 2 & X262 (XY THA) 34,920 34,230 690
OFA~FHEH SAA S8 34,920
& 10,476
Al 24,444
HAEAX S S (SAX MLIMAHE]) 109,128 97,560 11,568
T 34,128
Al 75,000
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301 EtE NS 109,128 97,560 11,568
= 34,128
Al 75,000
03 A2 E A0 Z2 (XL THH) 109,128 97,560 11,568
OFAEXNEX SE+E 109,128
= 34,128
Al 75,000
BAEEHH JISES 5,070 0 5,070
Jl 2,535
= 760
Al 1,775
307 @20l & 5,070 0 5,070
Il 2,535
= 760
Al 1,775
10 Al SXAEEHE2EHI2x 5,070 0 5,070
OFxHEEH JIs2Z 5,070
) 2,535
S 760
Al 1,775
HaEAlE JHA 1,219,000 1,322,000 103,000
Al 219,000
H 1,000,000
52 FAEMH A (HEAY) 1,139,000 0 1,139,000
Al 139,000
H 1,000,000
401 AIEHIZ SR OHYI 1,139,000 0 1,139,000
Al 139,000
H 1,000,000
01 Al&HI 1,139,000 0 1,139,000
OgRa FAEdy HE 1,139,000
Al 139,000
H 1,000,000
SXE0ISYHOHIE HH| SAt 80,000 0 80,000
201 eer23y| 2,400 0 2,400
02 S3=gHl 2,400 0 2,400
O=FE0ISSUOHHE ZHI SAt 2,400
401 AIEHIZ SR THYI 77,600 0 77,600
01 AlZ8| 77,600 0 77,600
O=ZFE0=SUOHIE EH| SAt 77,600
HH2IJH(HEFHL) 42,033 47,534 25,501
Jl=ZH(FEE ) 42,033 47,534 A5,501
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